ECON 611, PROBLEM SET #6
You are required to hand in answers to the questions in bold.  If you would also like to hand in your STATA log file, you may.
The equations estimated in this problem set are based on a simultaneous system of equations for demand and supply:

log Qd = β0 + β1 log P + β2 Z1 + u1    

log Qs = α0 + α 1 log P + α 2 Z2 + u2  


log Qd = log Qs
In this problem set you will estimate the reduced form price equation and the structural demand equation using data on the price and quantity of fish sold on 97 consecutive days at the Fulton Fish Market in Manhattan.  The data are in the file FISH.DTA, which is available on the web page for this course.  Definitions of the variables are given in FISH.DES (also available on the web page.
1. A. Estimate a reduced form equation for price using the log of average price (lavgprc) as the dependent variable and the average maximum wave height in the past 2 days (wave2) and the day of the week dummy variables (mon, tues, wed and thur) as exogenous variables.  Which of these exogenous variables belong in Z1? Explain.   Which of these exogenous variables belong in Z2? Explain.   

B. Re-estimate the reduced form price equation, adding the average maximum wave height 3-4 days before (wave3--a lagged variable) as an exogenous variable.  Should wave3 be included in the reduced form equation?  Explain.
C. In a table, report the results of the regressions run in 1A and 1B.

2 A. Directly estimate the structural demand and supply equations for fish using OLS and ltotqty as the dependent variable.
B. Estimate the structural demand and supply equations for fish using the instrumental variable technique two-stage least squares (2SLS) and the variables ltotqty, lavgprc, mon, tues, wed, thurs, wave2 and wave3.
C. Report the results of 2A and 2B in a table.

D. Discuss the different estimates of the price elasticity of supply for fish from equations 2A and 2B.  Which is the better estimate?  Explain
3. In this problem set use the data in the file MROZ.dta, which is available on the web page for this class.  A link to the description of the data is also on the web page. MROZ.dta has data on married women.  Limit the data to women with non-missing wages.  
A. Estimate an earnings equation where the dependent variable is the log or wages and the independent variables include years of education, experience and experience squared.
B. Re-estimate the equation in 3A using father’s education and mother’s education as instrumental variables for years of education.  Report the results of the estimates in 3A and 3B in a table.

C. What are the two conditions under which mother’s education and father’s education are valid instrumental variables for years of education. Test whether the instrumental variables satisfy these two conditions.
D. Test for the importance of endogeneity in these estimates.  Is endogeneity important in these estimates?  Explain.

E. Which regression provides the better estimate of returns to education, that in 3A or 3B.  Explain.
